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CBSE Class 8 Social Studies Worksheet

 1. State Yes or No: Minerals are evenly distributed over space.

A) Yes

B) No

 2. State Yes or No: India is the largest producer and exporter of mica in the world.

A) Yes

B) No

 3. What is more suitable for growth of coffee?

 4. Fill in the blanks: Countries like the United States of America and ____________ have gained in
numbers by in-migration or immigration.

 5. State Yes or No: Aluminum obtained from its ore bauxite is used in automobiles and aeroplanes,
bottling industry, buildings and even in kitchen cookware.

A) Yes

B) No

 6. Which kind of countries perform intensive agriculture?

 7. State Yes or No: Emigration happens when a person leaves a country.

A) Yes

B) No

 8. State Yes or No: China leads in the production of rice followed by India, Japan, Sri Lanka and Egypt.

A) Yes

B) No

 9. Fill in the blanks: Countries like Kenya have high population ____________ rates .

 10. Fill in the blanks: Densely populated residential areas should be separated far away from the
____________.

 11. Fill in the blanks: Sixty per cent of the world's people stay in just ____________ countries .

 12. Explain migration.
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 13. Give examples of marine based industries.

 14. What is the raw material used to make cloth?

 15. How shifting cultivation performed?

 16. State Yes or No: Minerals are concentrated in a particular area or rock formations.

A) Yes

B) No

 17. State Yes or No: One-third of India's population is still dependent on agriculture.

A) Yes

B) No

 18. State Yes or No: Densely populated residential areas should be separated far away from the industrial
areas.

A) Yes

B) No

 19. State Yes or No: Nomadic herding is not practised in the semi-arid and arid regions of Sahara, Central
Asia and some parts of India, like Rajasthan and Jammu and Kashmir.

A) Yes

B) No

 20. State Yes or No: Maize needs well-drained fertile soils.

A) Yes

B) No
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Answers

  1. Option B

  2. Option A

  3. Hill slopes are more suitable for growth of coffee.

  4. Australia

  5. Option A

  6. Developing countries with large populations usually practise intensive agriculture where crops are grown on

small holdings mostly for subsistence.

  7. Option A

  8. Option A

  9. Growth

  10. Industrial areas

  11. 10

  12. Migrations is the movement of people in and out of an area .

  13. Industries processing seafood or manufacturing fish oil are some examples of marine based industries.

  14. Cotton, wool, silk, jute, flax have been used for making cloth.

  15. A plot of land is cleared by felling the trees and burning them.

  16. Option A

  17. Option B

  18. Option A

  19. Option B

 20. Option A


